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FORENSIC SCIENCE
PAPER—II

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1.  The first Forensic Science Laboratory was established in India in :
(A) 1931 (B) 1941 (C) 1951 (D) 1961

2. Blood Stains on Clothes should be packed after :
(A) Drying in shade (B) Drying for 2 hours in bright Sunlight

(C) Heating upto 60°C (D) In a wet condition

3.  Arrange the following Courts of Law in an ascending order :

(i) District Court (ii) High Court
(iii) Chief Judicial Magistrate Court (iv) Supreme Court
Code :

(A) (), (ii), (iii), (iv) (B)  (iid), (iv), (@), (i)

() (id), @), (i), (iv) (D) (i), (i), (iii), (i)

4.  The Court which can conduct a trial for Murder Cases is :
(A) Supreme Court (B) High Court
(C) Sessions Court (D) Chief Judicial Magistrate

5. Match an item in one list with an item in the other :

List-1 List-11
(Name of Scientist) (Name of Instruments)
(a) Leuenhoeck (i)  Neutro Activation Analysis
(b) Roentgen (ii)  Electrophoresis
(c) Jaruis (iii) Microscope
(d) Culliford (iv) X-Rays
Code

(@ () () (@)
( @ (@) @) o (v)
( (i) (@) @) (v)
€ @G) @ () ()
( (i) (@(v) (@) (D)
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10.

11.

12.

Traces of gold on a paper can be detected by :
(A) NMR (B) X-Rays
(C) Microscopy (D) Emission Spectrograph

Thin layer Chromatography is used to identify the following :
(A) Ink (B) Glass (C) Saliva (D) Paint

Assertion (A) : Stereoscopic Microscope is useful for the examination of currency note.
Reason (R) : It gives the concept of thickness and depth of field.

(A) Both (A) and (R) are true

(B) (A) is false but (R) is true

(C) (R) is false but (A) is true

(D) Both (A) and (R) are false

The Parents have blood groups of AB and O. The possible blood group of the child will
be :

(A) AB (B) Oand A (C) Band AB (D) Aand B

Assertion (A) : Benzidine test is positive to blood.

Reason (R) : Because of the presence of peroxidase enzyme in the red cells.
(A) (A) is false but (R) is true

(B) (R) is false but (A) is true

(C) Both (A) and (R) are false

(D) Both (A) and (R) are true

Assertion (A) : Methanol consumption causes blindness.

Reason (R) : Because of the metabolic products like lactic acid and acetone.
(A) (A) is false but (R) is true

(B) Both (A) and (R) are false

(C) (A) is true but (R) is false

(D) Both (A) and (R) are true

Pralidoxime is used in the treatment of this poison :
(A) Aluminium Phosphide (B) Endrin
(C) Parathion (D) Pyrethrins
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13.

14.

15.

16.

17.

Match an item in one list with an item in the other :

List-1 List-I1
(Poisons) (Actions)
(a) Phenol (i)  Deliriant
(b) Datura (i) Cardiac
(c) Calotropis (iii) Irritant
(d) Aconite (iv) Corrosive
Code
(@) () () (@)
(A) @) (D) @Gv) (@)
(B) (Gv) (@) @) (D)
(©) () @) @G @Gv)
D) @ (Gv) @) (i)
The antidote used in the treatment of Endrin is :
(A) Atropine (B) Pralidoxime
(C) BAL (D) None of the above

The size of an entry wound by a Revolver at a distance of 10 feet is :
(A) Smaller than the exit wound (B) Greater than the exit wound
(C) Both are of the same size (D) None of the above

Match an item in one list with an item in the other :

List-1 List-11
(Arms & Ammunition) (Wound Features)
(a) Choking (i)  Abrasion Collar
(b) Dum-Dum bullet (ii) Dispersion of Pellets
(c) Rifling (iii) Keyhole wound
(d) Ricochet bullet (iv) Greater wounding effect
Code
(@ ) (o) (@)
(A) @) @Gv) @ (i)
B) @ (@) 3G Gv)
Q) () @) @Gv) @
(D) Gv) (@) @) (i)
Which of the following is not a component of propellant charge ?
(A) Sulphur (B) Potassium nitrate
(C) Nitroguanidine (D) Antimony sulphide

D—8206 6



13, geT - 1% 93 1 el - 11 % 731 9 faam wifse |
gt - 1 e - 11
(faw) ( gfafFar)
(a) fwra () fooyms
(b) Hq@ (i) 7 fasrem
(c) WeR (i) U< S / HaTIh
(d) THMEE (iv) &
¢
(@ (b)) () (@)
(A) () (@) (@Gv) @)
(B) @Gv) () Gi) ()
(©) (i) () G (@v)
D) @@ (Gv) @G) (i)
14. TUfed & ST=R & fau fFg gfalees =1 72 e g 2
(A) M= (B) TUkiellEd  (C) MTTA. (D) 3UEsd | § &g Tal
15. TH (10) FIe ®I ¥ § Fameer g fhan yav-=ma SR § 26
(A) Trig e d s
(B) T =ma | et
(C) 9aY =a AR i =ra SH1 U & SRR & B |
(D) 39Idd ¥ 9 I8 T/l
16. Gt - [ % 7l 1 geit - 11 & 73 § e &ifse |
e - 1 et - 11
( 37T U FRGT) (=T % I )
(a) IR (i)  STYEEU FHA
(b) SH-TH T (Teie) (i) =% = e
(c) TEHfcT (i)  =TSLAT =T
(d) HIR AR e Fgeie (iv) STHEIER &Sl =T L i &THdl
¢
(@ (b)) () @)
(A) () (@v) (@) (i)
B) (@) @) G) (Qv)
(©) (i) @) (@v) @)
(D) Gv) () GiD) (D)
17. Trafafed § @ & 91 A o =9 (Widele 9Tet) &1 31699d el § 2
(A) T (B) TrifeaH g
(C) e (D) TIHA HewEe
D—8206 7

P.T.O.



18. Ballooning with Cuprammonium Solution identifies :
(A) Cotton (B) Nylon (C) Silk (D) Wool

19. The Colour of a two day old blood stain is :
(A) Brown (B) Blue (C) Red (D) Yellow

20. From the hair root sheath cells sex can be conclusively determined by the presence of :
(A) Barr body (B) Cortex (C) Medulla (D) Y-Bodies

21. Urea Nitrate test is used for identification of :
(A) Blood (B) Saliva (C) Semen (D) Urine

22. In which of the following body fluids is secretor substance not found ?
(A) Urine (B) Sweat (C) Saliva (D) CSF (Cerebro Spinal Fluid)

23. Keratin pattern for identification can be useful from the following :
(A) Skin (B) Nails (C) Bones (D) Hair

24. Zip guns are :
(A) Shot guns (B) Rifled arms
(C) Sporting guns (D) Improvised fire arm

25. Ballistic coefficient is represented by the formula :

1
(A) Mgh (B) EMVZ Q) (D) None of the above

26. Soil Analysis is made by :
(A) Flame test (B) Density gradient analysis
(C) Neutron Activation Analysis (D) T.L.C.

27. The criterion for positive matching of striation tool marks is :
(A) 25% Ridge matching (B) 40% Ridge matching
(C) 50% Ridge matching (D) 60% Ridge matching

28. Sex determination can be done more accurately from the following :
(A) Humerus (B) Femur (C) Hip Bone (D) Sacrum

D—8206 8
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19.

20.

21.

22.

23.

24.
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28.
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29. When a person believes that his spouse is unfaithful, the person is said to be suffering
from :

(A) Delusion (B) Hallucination (C) Illusion (D) Impersonation

30. The mandibular angle of a 3 month old child is :
(A) 90° (B) 110° (C) 150° (D) 180°

31. Arrange the following cases of photographic superimposition in the order of

occurrence :
(i) Basauri (ii) Pancham Shukla
(iii) Rajkhawa (iv) Ruxton

Code :

(A) (), (iii), (i), (iv) (B)  (iv), (ii), (i), (iii)
(C) (@), (i), (iv), (ii) (D) (), (i), (iii), (iv)

32. A child of seven years old, the total number of teeth present will be :
(A) 20 (B) 24 (C) 28 (D) 32

33. Choose the correct combination according to the code.
The following tests are used to identify blood :

(i) Florence (i) Kastle Mayer

(iii) Ptyalin test (iv) Takayama

Code :

(A) (i), (iii), (iv) are correct (B) (ii), (iii) are correct
(C) (i), (iv) are correct (D) (i), (iv) are correct

34. Choose the correct combination according to the code.
Arrange the bones according to their length in an ascending order.

(i) Clavicle (i) Humerus

(iii) Femur (iv) Metacarpal

Code :

(A) (), (iii), (i), (iv) (B)  (iv), (i), (ii), (iii)
(C) (@), (i), (i), (iv) (D) (i), (Gv), (@), (ii)

35. The number of minutiaes in correlative position to establish positive identity from finger
prints in India is :

(A) 8 (B) 10 C) 12 (D) 16
36. Obliteration in writing is :

(A) Addition of words (B) Obscuring by superimposition
(C) Secret writing (D) None of the above

D—8206 10
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37.

38.

39.

40.

41.

42.

43.

44.

45.

Indentation of writing by ink can be deciphered by :

(A) ESDA (B) U.V. Light (C) VSC-I (D) All of the above

Arson is :

(A) Fire due to accident

(B) Fire caused deliberately with malicious intention
(C) Fire caused by Diwali fireworks

(D) Bush fires caused by lightning

DNA profiling can be done from :
(A) Ashes (B) Singed hairs
(C) Half burnt bones (D) None of the above

Single digit classification of Finger Prints is done with the help of :
(A) Batley lens (B) Compound microscope
(C) Hand lens (D) Stereo microscope

Write the correct combination according to the code.

Features of antemortem burns include :

(i)  Cherry red colour of blood (ii) Pugilistic attitude

(iii) Singeing of hair (iv) Soot in air ways

Code :

(A) (i), (ii), (iv) are correct (B) (ii), (iii), (iv) are correct
(C) (i), (iv) are correct (D) (ii), (iii) are correct

The type of asphyxia in “cafey coronary” is :
(A) Smothering (B) Mugging (C) Hanging (D)

Which of the following type of inquest is held in India ?
(A) Coroner (B) Medical examiner
(C) Magistrate (D) Procurator-Fiscal

Garlicky Smell is present in which of the poisons :
(A) Carbolic acid (B) Phosphorous
(C) Citric acid (D) Mercuric chloride

Which of the following substance of opium is used in Cough Syrups ?
(A) Morphine (B) Codeine (C) Thebaine (D)

D—8206 12
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Read the following passage and answer the questions concerning to it :

The body of a young female with 100% burns was found in the kitchen with a
history of burning while cooking. The body was found flexed at hip, knee, elbow and
shoulder joints. Post mortem examination revealed soot in the airways, cherry red
colour of blood, and a female fetus in the uterus. The tags of clothes were smelling of
kerosene.

46. According to Dupuytren’s classification blister formation is graded as :

(A) Idegree (B) 1II degree (C) I degree (D) 1V degree

47. The flexed position of the body was due to :
(A) Rigor Mortis (B) Poisoning with gases
(C) Heat Stiffening (D) Cadaveric Spasm

48. Which finding in the body is suggestive of antemortem burns ?
(A) 100% burns (B) Soot in airways
(C) Flexion of joints (D) None of the above
49. Cherry Red discolouration of blood is due to :
(A) Hydrogen Sulphide (B) Methane

(C) Carbon Monoxide (D) Carbon tetrachloride

50. The test to determine conclusively the fuel used is :

(A) GLC (B) HPLC (C) TLC (D) FLASH POINT
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46.

47.

48.

49.

50.

T Jad! 1 100 FT¥Td STer Tl 916 WE =R H YT gl iR 9g sqemn 71 foh a8 @
S @ oft | 919 § e, Ped AR FY S g A | I9 W0 H YrAe! § Hiferd o 9gvd W
1 A 1 AR TH § SAfeIsht Yo1 91 T | el W HE % qa T T ot |

ffe o TR & FTTIR FHIAT a4 T S0 T8 ¢
(A) Ifet (B) 1IIfent (C) 11 felt (D) 1V feilt

IR it get ge feafa (engfaa feafa) &1 wror @
(A) IR stk (T =iféd) (B) g faw &1 o
(C) 9 ¥ FHIUA BT (D) HeEfe T (6 Hi Ta3T)

va % FFg AT | I TaqT A ST Gkl © T I 9g-qd STer 1 R © 2

(A) 100% ST (B) ¥aI® 7ol § whifer@ T AT
(C) et ot Hpfer & (D) 3w i +ff T

A 1 A4 TG AT T T FRT

(A) TESSH HCHRES (B) fagm

(C) & HFIIHES (D) HEA IEANEE

T 2uF & Trvearers e & fore o gderor foran S €
(A) Si.TetH. (B) TA.W.UAH. (C) ua. (D) oI WTEe
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